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6 | 223 ZH B | fHF KB ARRLE HI [11.921+0.6]12.42i+0.7] - — X 11.96:+0.5[12.42i+0.7] 5
71310 KA LE|I K 0 7 51 X 11.25i+0.7]11.17:+0.8 11.25:+0.7
8321 IS AT | Bk 1 H & 2 DNS
9| 285 ERT HMESF | F 3 m & 2 [12.19i-0.2]12.22i+1.2[12.05i-0.3]11.89i+2.5]12.05i +1.6] 11.84i+0.8[12.221+1.2] 6
0] 289 AJIT = | #»n Es 2 DNS
11| 179] /R BERT | o i K AH B & 3 X 13.08i+0.2[12.63; 0| «x 12.721+0.9[13.39:0.1|13.39: 0.1] 2
12 299] & H % *ﬁ R R A E 1 [12.97i20]13.115+1.1 - 13.05:+0.6]13.42i+0.2[13.16i-0.2[13.42i+0.2] 1
13| 380 H¥ Bl=2-%-1"AC X 13.20i+0.7] — - X 13.33i+2.1[13.33i+2.1] 3
141389 ST B— | = = — ¢ — AC |11.57i+1.7|11.59:-0.3[10.50i+0.9] x X 11.04i+1.5[11.59;-0.3] 8
X = i & 15m14 Bk s (R 27 7 7)) 2005
SN 10 4
R B
[7.260Kg]
BREGED] K 4 s 1 2 3 1 5 6 ok AR Tms
T 168 R BN LU o F 55 3 X 5. 74 6. 84 6.84
2 | 32BN BE—1 5 A Run 7 5. 67 5. 52 5. 43 5. 67
3233 kAR HER T v HMEE g 1 8.23 8.33 8.53 7.95 X X 8.53] 8
4 1264 R Y~ M B H 4 &1 8. 07 8. 10 8. 61 8. 47 9. 04 8. 45 9.04] 6
5 | 232] EH 3 | e Wt 2 8.77 8.89 8. 68 8.56 7.96 8. 24 8.89] 7
6 | 351 e K& | % =l 9.76] 10.01[ 10.17 9.95] 10.21] 10.75] 10.75] 4
71383 AFF FERt =2 -% -} AC 10.72 X X X 10. 91 X 10.91] 3
8 | 369] JITo IS ESE 74 1-737" X 9.99]  10.67 X X 10. 70| 10.70] 5
9 | 194 /N BEZOT| B K FH Bl | 10.72]  11.05] 10.81] 10.61 X X 11.05] 1
10 195] mfe Bk | il KRS 1 10.20] 10.50] 10.86] 10.02] 10.12[ 10.98] 10.98] 2
X & i # 44m93 EONEIS 5 (Jt EEN K 2000
SN 10 4
R B
— % [2. 000Kg]
FREEE K 4 gr & 1 2 3 4 5 6 ek [Nafr i
1370 2% & [ & A Run 7 o X 15.50]  16.50 16. 50
2 | 376] LAk %EL 5 A Run T X 17.31] 15.72 X 16.81] 17.35] 17.35] 8
31324 WM W [k 1 B &1 17.95] 18.93] 20.00[ 19.86] 19.53] 19.54[ 20.00] 7
4 [ 196] VBB ZEh | v N fH B 2 17.83]  19.63] 19.32] 20.11] 20.65] 19.01] 20.65] 6
5 [ 39 KE WRITE DNS
6 | 307 Bk =fh | X 0 4 2 21.89] 20.95] 21.15] 21.47] 22.69] 21.98] 22.69] 5
AN TIPS -T X 29. 83 X 29.97] 28.82] 28.79] 29.97] 2
8 [ 320 R i | ki & 27.96] 24.35] 28.96] 29.32] 27.56] 28.88] 29.32] 4
9 [ 394] /N #himl [ 75 B Kk 33.97]  33.24]  33.45]  33.90 X 34.25] 34.25] 1
10 239] #5vT A [ W0 78 & 2 X 28.70]  27.34] 29.03] 28.94] 29.86] 29.86[ 3




KX & 2 b 65m14 g FT ( TAC ) 2012
PN 14 4
R B
[0. 800Kg]
PREED K % ) 1 2 3 4 5 6 ke LA RS
1| 178 A WEE | o g~ n b o 36. 54 x| 32.63] 34.88 x| 30.88] 36.54] 6
2 | 371 IgE i1 | & A Run 7 o 19.29] 17.97] 19.90 19. 90
3331 A R | B W A &1 X x| 19.04 19. 04
T I MR B2 | VP Lv Y A mal 29.27] 23.29] 22.70 29. 27
5 | 349 A A | & & & ] 32.11] 33.58] 30.53] 36.75 x| 34.56] 36.75] b
6 | 182] 75/K TEKER| i A 0 4 & o 42.75] 46.61 x| 45.91| 45.78] 50.07] 50.07] 3
7 1295 J0T0 B | &k 5% &l X X X NM
ST I AF WS [ f M i &1 32.58]  28.60] 31.21] 32.35 X x| 32.58] 8
9 | 325] Bt REAS | R % £ & 1 x| 32.52] 31.07 32.52
0] 163 A% V|V LY 4 & 55 34.51 X x| 32.79 x| 29.08] 34.51] 7
1] 293 & BE| W % & 2 x| 36.26 x| 37.50 | 35.36] 37.50] 4
12| 214 A Sk | dn i e 1 49.03]  42.92 x| 49.63| 43.95] 53.09] 53.09] 2
13] 348] ZZH_ #ith | g # & & 2 48.86] 49.36] 45.26] 50.63| 49.56] 53.83] 53.83] 1
14| 401] flR__ %&(E TAC DNS
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2 0 0m

K = 7@ & 26”29 WA #yb ( ¥R FS &) 2009
PN 18 4
F BB LLEAI8ARMER

1/ (B#E —0. 4 m) 2 (E#E +0. 4 m)
vy /EOR A i JlERr e g V- /EOR A i JlEfr  FE &k
2 95 = @l (k¥ m & 2) 4 _29.97 2 100 FA VA (kF ¥ F§ & 1) 6 _31.28
30129 HA oW (M B4 ®2)_ DNS 3047 FEE AW (¥ % & H2)_2  _27.63
4 1 4f g (i R | 1) 2 _27.68 4 148 B X (MEERE®m2) 3 _27.99
5 159 A BIETY (¥R E &) DNS

6 87 M MR (e mIMAEJE S 1) 3 28.68 6 134 Sl HwwAH (M B O & 1) 5 _28.69
7173 (Uil BEEE (uE KM AL 3) L 26.28 GR 7 149 Jhb B (HRCKBFAEELEH2) 1 26.76
8 187 A% MiE# (MEJKEFME& 1) 5 _30.56 8 86 &Rk A (e MMMR & 2) 4 _28.42

3 (EE#E —1. 3 m)
vy J/EOR 4 i JlERr e g%

2 172 PN M&RF (R %5 1) b 28. 90

4176 gl EWE (SRME R MR 1) 3 _ 2838

5 146 Hft H¥ (& W Bol) 1 28.19

6 75 R A (M4 7 ke l) 4 2845

T 55 fEAE AeH (M E 4 @ 1) 2 _28.20

R B
(Fo#E +1. 2 m)

- &ZE KR 4 )& JEhr G Bk

2 176 Il EmE (HvE KM 1) 6 27.94

3 65 A AHpAH (W ¥ 4 | 1) T _27.98

4 47 X OBEW (il % 4 & 2) 3 _26.99

5 149 JrEb B (MEBLREFFERLFH2) 2 26.26 GR

6 173 (Ll EREF (H¥E KRB 3 ) _L _25.59 GR

T A el (s R & 1) 4 _27.36

8 146 MY HI (& W ml) DNS

9 148 JF Bk (MEEFEKRAH2) 5 _27.68

4 0 O m
ZIMAE 14 4
AALLL—R(ZA4 LESISAAE)
148 2
2 AV 2 i JEhL  F gk -y BSR4 i JEh R gk
2 139 KR &R (RRAT KBRS 1) 5 _1:06. 28 2 182 /hkalgE FuZE (A YE KA KL 2) 3 _1:06.50
3178 thm R (e KA 1) 6 _1:07.10 3 48 Rk FawE (v E 4 & 2) DNS
4 151 &l FHEE (MEBKBAEEFEHL) 3 _1:03.47 4 155 KB BIHE (A KEFFEBRHL) DNS
5 54 /NI OERF (M # 4 & 2) 1 1:02.10 5 88 T8 MERTF (JeBIAMBEE S 2)_ _ DNS
6 89 Ak AT (JEBIAHBLJEE 1) 7 _1:08.69 6 143 f@)Il AF (f W @ 2)_ 4 1:08.18
7 83 miE KE (1B A 1) 4 T1:06.07 766 R K (B W & @ 2)_1 _1:00.55
8 22 WA ®v (gx % @ l)_ 2 1:03.34 8 67 MEEm E&E (B WM B & 1) 2 _1:05.16
R B

lgp &5 K 4 i V=S

1 66 Pl KE (B % & &2) 1:00.55  2-1

2 54 N OENT (W Z & & 2) 1:02.10  1-1

3 22 JEAR #HT (¥ 5 1) 1:03. 34 1-2

4 161 @l HFEE (BB FHELE HL) 1:03.47  1-3

5 67 E O OK&E (K % B & 1) 1:05.16  2-2

6 83 mtE KE (1B PN &) 1:06. 07 1-4

7139 AR BFHE O (FmRHERLE 1) 1:06.28 1-5

8 182 /bRl FnZE (HME RAHAE & 2) 1:06.50  2-3



8 0 0m

K A T & 2’19736 WA BEET ) 5 &) 2012
EIIIPNq 14 4
AALLL—R(BALLELISBAAE)
141 2%
v FEORKR 4 i [ A > vy FEORK 4 i Jlgsr R 8%
2 158 wmE EHBE () ml) DNS 2 69 K (B W B & 1) 5 2:43.44
3147 YEE &HOIT (% ¥ @& 1) 3 2:48.50 3162 AAF ER (FEELREFFERFHL) 3 2:37.66
4 68 UnA  #EIE (B W A s 2)_1 _2:30.38 4 99 KM MEFE (F W oM ®1)_2 2:28.32
5 50 bt @C (i & & ®1)__ DNS 5 150 P EWE (HRBTREFMERCEH2) L 2:24.20
6 78 miJIl HBE (4F VN & 1) 2 2:41.08 6 49 R HEH (i % 4 &2)_4 _2:41.55
757 Rut Ry (K FoW o om2)_ DNS 776 KM fEE (ML T K1) 6 2:48.48
8 130 e R (M M H 4 m2)__ DNS 8 131 EA E (MM mE4L&E1)__ DNS
R B
YA = A A VI i Rl
1 150 P ERE (AR K EFFEAE R H2) 2:24.20  2-1
2 99 Kl ME (L ¥ B m1) 2:28.32 22
3 68 gk EBIE (B W B & 2) 2:30.38  1-1
4 162 RFT EHE (FEBE R BFFEAER HL) 2:37.66  2-3
5 78 mpll HE (F N &) 2:41. 08 1-2
6 49 KR H (B % 4 &2) 2:41.55 24
769 KJII B (F W B Eml) 2:43.44  2-5
8 76 KH #EF (MHELF+KRk&!l) 2:48.48  2-6
15 0 0 m
K & 7 & 4’ 46”89 FIH AT (¥R 5 =) 2011
LN~ 4
R B
vy BSR4 iR JIERE R &%
1136 P4y %% (F M L & 2)_ 9 5:10.83 10 52 I BWE (W # 4 @ 1) 10 5:14.91
2 135 WEROET) (M O @ 2)_ 1 _4:48.81 11 79 {®iE WTh (15 ZN & 1) 7 5:08.52
3132 PUF & (M M m 4 & 1) 16 5:52.45 12 74 Bl #iE+ (MM 2 F ks 3) 14 5:29.23
4 128 RE ®# (- # B @& 1)15 5:38.09 13 73 A RREE (M L7 KE3) DNS
5 96 WEM % (L v B & 2) 12 5:18.20 14 70 =) EBE (fF W & & 1) 3 _4:56.98
6 91 M #E O(fE W M @ 2) 1l 5:17.05 15 41 FE  fG# (1994 v & 4 TFC ) 6 5:06.89
7 62mizE & (kK f1 P g 2) 13 5:19.66 16 185 /hka FiEE (sRvE KAHBL S 2) 5 5:04.35
8 61 HIE AZAhHZ (K F1 W @ 1) 4 5:03.01 17 184 JIX B (M KAHMLE 2) 2 4:52.65
9 51 FHk FE (W % 4 ®2)_8 5:08.80 -
1 0O O m H(0.762m)
X & = s 1573 ELOREN (L W m™m &) 1986
eI 8 4
R B
(Fo#E +3. 2 m)
-y EZEORKR 4 i = A o<
2 98 Wk ABAL (b W M s 1) 2 17.42
3 b6 bR FHEE (K W & 2) 3 17.55
4 92 WA #AMkE (WA W o E 1) _7 0 _18.82
5 192 Mtk FEHE (K fn m1) 8 20.19
6 60 Jilw HA (K 1 7 & 1) 5 17. 66
797 ¥FH AU (F % M m2) 6 1812
8 53 KA FE) (Mg & 4 | 1) 4 _17.63
9 82 %A Fm (1B N m1l) 1 16.53



X & F gk

vy R

2 CFR B K 9% AR A5 )
ENE K 4

1 163 £k T HL
2 149 HE HEZXE 12
3 151 &3 FHEEHI
4 155 £ B AFHL
V-y g

5 (kK f 7 &)
ENE K 4

1 56 /bR FHIE 2
2 58 UTHE HE&E 2
3 60 JIl'er ZFH 1
4 59 K& BHHBEZE 1
vy g

8 (W # £ &)
EE &5 K 4

1 72 NRE ERE 1
2 64 fFRH HEE 1
3 65 R A 1
4 66 HE  KE 2
b=y R

1 (iR S =)
EE F K 4

1 83 mifE RfE 1
2 82 WA EAH 1
3 79 FEE OWIT A
4 7T 4Fn L1
V-y R

4 (F # ®M &)
EE &= K éé

1 97 P ERST 2
2 99 K[ /IFE 1
3 98 K ﬁfsa 1
4 95 =L M 2
b=y i)

7 (R g &)
EE &= K

1 160 %A EfE 3
2 162 FUg LR 3
3 171 &=y il 2
4 22 JEF T 1

4 X 1 0 0mR

RER AN B (R
RO
Vv ios
3 (e Ui &)
ENE & K 4
1 143 R@&)Il mF 2
2 144 S EH 1
3 146 HL H3E 1
4 145 KE fRME 1
vy ioB
6 (o #E K AR #% & )
EME &= K 4
1 183 EAT K 1
2 173 (LikF BHET 3
3 175 /M L 3
4 174 WX E£%E 3
vy ios
9 (I N =)
ENR K 4
1 83 mifE  ARfE 1
2 7T &4Fn M1
3 82 W&  EMm 1
4 81 KA WA 1
X 4 0 Om
R B
V-y i)
2 (K f W &
ER F= K 4
1 56 /BR FHE 2
2 59 K& HHZE 1
3 61 HiEE Aol
4 60 JII'm HH 1
V-y i)
5 (AL K 9 48 5 R )
ER F= K 4
1 153 fepE  #EF HL
2 149 FE  H4& H2
3 150 P EM H2
4 155 8 HIHFFHI
Vv ioE
8 (# M JH &)
ENR & K 4
1 134 Sl HwpA 1
2 135 R Iy 2
3 136 EpAT = 2
4 137 Bk EAE 2

&) 2012
PN 8 F—Ai
V=y 7R
4 %Eﬂm 155 )
EE % K 4
1 87 M MK 1
2 88 1§ fEFET 2
3 86 $mAk R 2
4 84 R H#t 2
V=y 7R
T (W &)
EE F K 4
1
2
3
4
vy s (VA o3
2 (AHBLREFFEAER ) 2 _50.34
3 (& W m)_7 _54.50
4 (eI MBI E) 4 _52.39
5 (KX M1 78 &) _6 _ 5447
6 ( HUE K MH AR ) L _48.48
T (W % @) __ __DNS
8 (@ W & @) _3 _5l.38
9 (1% &) b 5414
SIMNF— A 9 F—I
Vv R
3 (il ¥ 4 &)
EH 7 K 4
1 46 LK b E 1
2 54 JNEF (EIRF 2
3 45 SEAR T 2
4 4T FE5 AW 2
Vv R
6 (Ot B 4H E%J? )
ENE &= g2
1 86 7!< =¥ 2
2 88 W LS 2
3 87 M K 1
4 84 R H#t 2
Vv R
9 (k1 H &)
ER F5 2
1 67 MEE K& 1
2 68 JIAR AL 2
3 64 HEI HAHE 1
1 66 TR KE 2
V- G WERE R G
1 (i A @) 6 4:23.37
2 (kK fn w8 @) _T 0 _4:25.79
3 (¥ # 4 )3 _411.00
4 (F % B m)_8 _4:2864
5 (FAMEKBPARALR ) 1 _4:00.94
6 (z‘zﬁ)ﬁwﬁ Jiig ) 5 _4:15.02
To(w % E) 2 4:02.39
8 (k1 # J &) 9 _4:34.09
9 (FE % & @) _4 471449

GR



E 5 B

X & F gk Im70 R T AV ) 5 &) 2012
EIIIN S 6 4
R B
B E = K4 G 1m20[ Im25] Im30] Im35] Im40] Im45] Im50] Im55 e T =
1| 142157 =8| w W a2 |- - - o o o XXX 1.45 [[3
2 2] g FEWE | B W oa 5l - X0 |xo |xxx 1.35 [[6
3 40 ;*’% T, WRITE - - - - X0 |o XX0 |xxX 1.50 [[2
4 | 171 &g G | on B4 5 2 |- - o o X0 |xxo |xxx 1.45 [[b
5 [ 168 sk ZZ A in % s - = Jo 0 0 XXX 1.45 |3
6 1181 Mt ®fe [ Ry RS 1]- |- [ [- o 0 X0 |Xxx 1.50 [I1
£ E B
R = i & 5m38  TibjE AEF (k # ®m =) - 1982
SN E 10 4
R B
BHFEL] K A G 1 2 3 4 5 6 ok o 05
1] 71 & & [ fE 3% & &l DNS
21 B9 REE BIHE X Ffn & 1 X X 4.96:+10.4] x X 4.97:-0.3[4.97i-0.3] 4
3 [ 165] R FLED | R o & 2 X X 5.10:+2.7| 5.18:+1.5| 5.10. £ 0]  x 5.18:+1.5| 2
4| 160] %me  Eiw | o 5 = 3 [4.9270]5.04i+2.7]5.25:+2.2[ 5.02:70.4] 5.35:+0.2] 5.16:+1.3] 5.35:10.2| 1
5 | 163] e 1 | AR R A B FHf e H1 | 4.851+0.7] 4.96i+0.5] 4.81:+1.2[ 5.01i+0.5] 5.01:+0.5] 4.99i+0.1] 5.01:+0.5| 3
6 63| K& AL | FC = 5 o o |4.41i+1.4|4.67i+0.5]4.69i+0.8] 4.65i+2.3] 4.64i+0.6] 4.51i-0.6] 4.69i-0.8] 6
7 4ol BOE AR 1994 5% 1] X X 4.67:+0.3| 4.75:+1.8] 4.38i+1.3| 4.45: *0| 4.75:+1.8] 5
8| 8ol WE TH|F g & 1 [3.83iF0] x X 4.09i+15| x 3.93i F0[4.09:+1.5] 7
9 [ 193] A  WWE | KX Ful &1 DNS
10 141 PR 2k | sAn RN S 2 X 4.001+0.7] 3.91i+2.1[ 3.93i+1.0[ 3.781 0] 3.881 =0[ 4.00i+0.7[ 8
X &= i &k 11mO01 = ¥ (¥R E =) , 2012
SN 4 &
R B
[4. 000Kg] _ _
EEEE] K 4% il 1 2 3 7 5 6 S06k |RLL GBS
1 [ 170] )T K% | o 5 = 2 7.27 6. 69 - 7.27 6. 60 - 7.27] 3
2 [ 169] &  EA& |k %5 = 2 10.90] 11.08] 10.95] 11.71] 11.68] 10.22] 1L.71] I |GR
S SEESARY SN TE 3.27 X X 4.70 4.47 5. 48 5.48] 4
1| 180] M)l FaaE | o v A0 L i 2 6. 44 6. 43 7.38 6. 54 7.87 7. 34 7.87] 2
X & o 38mb2 AR 13 (kB R | B 1997
N 2 4
R B
1. 000Kg] _ ) _
FREES K 4 & 1 2 3 4 5 6 EE a0 [GES
1 [ 164] R = | fHks KPR fe s L x| 25.24] 20.70] ©24.95] 24.00] 22.65] 25.24| 1
2 | 93] mm S0 #E WE N 5 1 18.32] 20.68 X X X x| 20.68
r Yy ¥
X & @ & 44m24 IR ¥ ( S.A.C. ) 2012
YIS 6 4
R B
0. 600Kg] _ )
REER K 4 il 1 2 3 7 5 6 So0k |JRLL (GBS
1 [ 138] BoFd 2z | f0 b B & 2 X x| 24.50 X X 18.10] 24.50| 6
2 [ 179] 20 MR | e K e s 2 28. 32 x| 30.54 x| 26.09] 28.19] 30.54] 3
3137 AL B | A B O 2 x| 31.82] 31.48 X X x| 31.82] 2
4 [190] FE B35 & ful & 2 x| 31.98 X x| 29.99] 27.69] 31.98] 1
5 [ 189 /By SRR | K gl 2 26. 40| 26.25 x| 28.80] 28.13] 28.25] 28.80] 4
6 | 140] HWE R0 | kA N s 1 X X 24.28]  28.10] 27.36] 21.63] 28.10] 5




E7 AbEiEE EBRFRASEAE
BNF—2 | 1| 1| F [T [ W || JBR R | IR |48 | | o= [V /05 |40 0 | [ D6 [ 48 | FB |48 [#8 (48 | AR | FR [ [BR| = |48 |1 | < [ | R K6 | v
9[9[ C|A|R |J|Am| A | 18| E W | X | & || A |52 |18 | B | B | A (A | A | | B (A | L |9 | = | AR | B | v | S | Fn [ | A | &
glol=|c|I|@m|KR|K|a|E|]| - (4@ |5 ||| &\ R EE] x| &R A& |E|E| R | =
414|5 T | & VAL Bl | R | (4 | B | - | 4 o | T | R | R | A [ HE | B -4 Elu v
| 2| || B g A T R D e N o I A1 R o B T et n|x
ZN| v b} . PE AL ZAEIEAEIR >
4 = 2 & Ji ~ A N
T | iR C
£ 7 #f
C 5 -
A -
100m 2 9 8 5 7 5
200m 15[ 3 1 4 5 8
400m 8 6 4 5 5 7 1
800m 8 2l 1 3 7] 10 5
1500m 6 2 10 3 7 8
b=l 5000m 10 11] 1 10| 4
110mH 3] 3 7] 8 4] 5 6
4 X 100mR 3| 4 7 5] 2] 1] 6 8
4 X 400mR 6 5] 3 1 4| 2 7] 8
A Bk 4 6 5 1] 8 12
A g Bk 2 8 5 6 4 3 8
+ — BBk 5 4 13 7] 7
Fa L 4| 5 3 3 15 6
Az & 7 6 7| 3 8 4] 1
VR 7 12 1 2] 9 5
it 3 2 13[49] 7] 6] 4[66] 5[11 18[26]17 22]20 8[30[42]54]50]13] 8 29 31] 1
JEAE 4 1 71 5] 2] 3 8 6
100m 0] 2 7 9] 5 3
200m 8 7 4 11 5
400m 2[12 7 5 1 3 6
800m 8 3 7 13] 1 4
i 1500m| 3 6 1 8 11 2 5
100mH 2 5 10 8 110
4X100mR 6] 2 5] 7 8 4 3
4 X 400mR 5 6 1| 4] 8 3 7 2
A gk 7 3] 6 3 10
A E Bk 4] 3 1 6 2 15 5
E Fa L 12 14
ek Sia 7 8
R 4 10 6 13
= 3] 4] 3 7 7[50[10] 9 37 18] 9[54] 1 18 4 66| 5|31 55]14] 25
[Eia 4 5 8 3 8 1 6 2 7
® = 3] 411 7] 2 20[99] 17[15] 4]103] 5[11 36]35[71] 1]22]38 8[34]42[120] 55] 44] 8 84] 14]56] 1
& JIEAT 3 2 5 1] 7] 8 4 6




BER-—-BBFOH

1. 0 O m
ZIMANF 33
1M (B@E —0. 2 m) 2% (R —0. 3 m)
vy BSR4 5 g R g% vy FJEOK 4 o JIEAr
2 47 R PR (M KA 1) 3 11.70 2 365 HROHER (K 1M AC) 2
30421 A TEKRES (RyE KM S 2) DNS S R T 7/ S G < & 1) 1
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